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erine island in the world
Which of the following is the largest inhabited rivenine '.::} ki
(A)Y Doab :
(C) Umananda (Dy Marnjo
(E)  Question not attempted

ﬁﬁﬁﬁzﬁmaﬂﬂﬂﬁmtﬁng&uqﬂmﬂﬁhmﬁf

(A) e 3y e
(©) s (D) WEN
()  wgaf@us

Which of the following river is mor o part of Indus River System ?
(A)  Satlyj (B) Chenab

©) Kosi ©) Ravi
(E)  Question not attempted

ﬁwﬁ%aﬁqtﬁﬂﬁﬁgﬁm EAR e

(A)  Hagw (B) ==
(©) =t (D) wE
(B)  svwia s

Which of the fﬂ“DWing Lake is mor a Saline water lake in Raja.sthan?
(A)  Pachpadra

(B) Sambhar
(C) Didwana

{D) Pichola
(E)  Question not attempted

ﬁwﬁﬁmﬁ%ﬁ%ﬁa@ﬂwaﬁmmﬁ?

(A) 9=9=U (B) =

(©) Zrearn \@ Toreien (fretem)

(E) igmi@ war

Which of the following is the application of computer mostly used in medical field?

(A)  To provide assistance in surgery (B)  To create adve ﬂiﬂm‘n&nt

(C)  To visualize 3D objects (D) To provide distance educatio
(E)  Question not attempted n
ﬁqﬁ{ﬁaaﬁﬁﬂm{aaﬂm-mm{g@ﬂ: Fafreda & & wefm 2o

(A) wren Faferem | gemar ®) P

(C) 33 siesrazy w1 o1 Fam (D) g e wam ey

(E) rgafawy - o : T WCE

Which of the following is not the class:’culcgnry of computers?

(A)  Parallel Computing (B)  Micro —

Mini 1 uter

(C) ini C.‘,ompu er (D) Mainframe T
(E)  Question not attempted Puter
ﬁﬁﬁlﬁn%m-mmmaﬁ;mﬁwﬁ .

(A) ST Fegfn (B)  FTgehy shvagey

(© Fritee : (D) e whveagay
® FEReE : |

® 2

{A)
(<)
(E)

o p1l



6 Which Indi
ndian has won the 2023 Ramon Magsaysay Award? (Choose the most appropriate option from below)

(A) Ravi Kannan (B) Kailash Vidyarthi
(C) Ghazal Alagh O (D) Gautam Adani WO
(E)  Question not attempted '-";I
Forer WTCe s X 2023 707 Rri e ey (Fer @ it 99 e ) <t
(A) TrF Fc"{; @) e Framdi ™~
© eI o (D)  Tivew ST g
(E) Hﬂ'ﬂﬁﬁ o= —i . i
- . ) r'1 ) .1__!
7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A) Chennai O (B) Mumbai \O
(C) New Delhi ™ (D) Kolkata ™
i <3 <
(E)  Question not attl::mpted ™
Frfewer frew weter (@) 2024, fore wree/ Sheamfin w&w0 # syenfore famar mam? 0
(a) =i E ® g ﬁ
© wifet T (D) e —
(E) ST{aia 9y
W
8 The famous speech by Bty Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called

- (A) Trystand Co-operation (B)  Tryst with destiny

(C) Tried with desti (D) Tryst with honesty

(E) Question not attﬂlpted
14-15 3T 1947E€rmmﬁaﬁqﬁsﬂmwﬁwmﬁm T Wit TS T ST & o

0874

(A) frewsw-sReH ®) fre=frifeh —

© o= 0 o) Refwmms O

(E) WA ™

. e, . y T

9 The cities that were diyided into communal zones during the partition of India were- ™~
(A) Lahore, Bihar and/Calcutta o

(B) Lahore, Amritsarand Hyderabad )

|

i

(C) Lahore, Amritsarr_?nd Calcutta

(D) Amritsar, Calcutta and Jammu & Kashmir

(E)  Question not atfempted s
m%ﬁmﬂ?%z\zﬁﬁ'ﬂmﬁﬂﬂﬂﬂqm&h M
(A) @men, fagn W%’%ﬁ <t
(B) EATEN, HgAEt 1{‘;
(C) e, AT ST =
(D), s, Ferwrsh s Fi —
(F) FEf@an i -
. | P.T.O.
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10 Given below are two statements: . : i
Statement (I): In April 1919, the Udaipur state government formed a (‘ommiis-llon. under the 111::;‘::;‘:;; ::
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers.
advocated various recommendations for the benefit of the farmers. )

Statement (11): Officers of the Foreign Ministry of Indian govenment believed that a quick a][lal‘lC‘C should be made
with the Bijoliva Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajputana.
In light of the above statements, choose the most appropriate answer from the options given below.
(A)  Statement (1) is incorrect but Statement (11) is correct.
(B) Both Statement (I} and Statement (I1) are correct,
(C)  Both Statement (1) and Statement (I1) are incorrect.
(D)  Statement (1) is correct but Statement (11) is incorrect,
(E)  Question not attempted
mm:ﬁﬁ%m%ﬁ#m#@#m%ﬁmm&m 1919 F, TF TG0 1 7234 Nvaerz
Eﬁmﬁ?@aﬂmﬂmnnﬁﬁm m&ﬁuﬁ%ﬁa%mmwﬁ
T (I): VAT W farder e & sttt a7 amay mﬁﬁﬁmmﬁmﬁwﬁwmﬁ
ST S TS § e s1ieier o Rarers =1 S gear d)
mmmmﬁ.ﬂ%ﬁqmﬁmﬁ%m&qﬁm?ﬁ:
(A)  F95 (1) 7o & S = om (n wd (B) =W () dRTm () IHiwd &
(© =1 (1) s (1) 36 e B (D) =" () ¥d RS w7 () e
(E) swfaws
11 Which of the following is not a type of Iron ore?
(A) Lignite (B)  Siderite
(C) Limonite (D)  Magnetite
(E)  Question not attemnpted
Frfefan § & 1 e s s vsn T i
(A) fo=m= (B) wie e (fdwee)
) fadmmee (D) e
(E) STmfaws

12 Which of the following is an cxam.ple of joint sector industry? (Choose the MOSt appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Acronauties Limticd
(C)  Oil India Limited (D)  Steel Authority of India Limited
(E)  Question not attempted

A& % 1 6 49 0 O e (Fr= 3 & et Iwgen R )
(A) WA &t Efazaey fafire ®) fegem Wril fafipe
AC)  FHma fem fafipe (D) e i i ¥y i
(E) wafaug
13 Which of the following is a mineral-based industry?

(A)  Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D) Petrochemicals Industry
(E)  Question not attempted
frerfefes & & i aafis s agm 8
(A) T T (B) a®3IUm

TeE FE D) g gdim
(€) o
() T .

Al ® [ P.T.O.




e
-.,{’
\V:;

14

: g
£

o
x&

®

oty
The average of 11 observations is 50. If the average of first six observations is 40 and the average of last six
observations is 55, then the sixth observation is:

;.mﬁﬁmaﬁmsnm.aﬁﬂu@tmm‘mﬁmaﬂmmﬁ.Wﬁm%mmmmﬁ?ﬁ?mm
(A) 35 (B) 30

() 40 JH) 20

(E)  Question not attempted / S¥afa wy

The length, breadth and height of room are 12 m, 9 mand 8 m respectively. The length of the longest bamboo pole

15

that can be placed in it, is:
(A) 15m (B) 19m
(€ 18m (D) 17m
(E)  Question not attempted
o w12 Ht e, 9 =gt st s i S @ e T o e e AiE o 58 A sfirman efad sma i |
(A) 157 @) 19
© 187 () 17ht=2a?
(E) 3¥aia e

16  The inner circumference of a circular path around a circular lawn is 660 m, What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B) 110m
(C) 119m (D) 115m
(E) Question not attempted
e v A 3 WRE A aded i srafes aff 660 sfiex &1 af g 14 e g @ i gt ame affy A fre,
(e ) wa Enft?
(A) 84T (B) 110

e 19" (D) 115H=A

(E) Hgaf@wd

17 A shopkeeper sold an article for T 400 at a Joss of 20%. At what price he should sell the article to make a profit
of 10%?
TF TERR ¥ et g w1 20% R R 400 & 311 10% 1 @ wary ¥ forg, I8 I awg F v W
AT Tfgw?
(A) 2530 ~B) 550
(C) T 500 (D) T 520
(E)  Question not attempted / Hﬂ'ﬂﬁ'ﬂ w4a

18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A) Govind Ranade (B)  Vivekanand
(C) Dayanand Saraswati (D) Raja Ram Mohan Roy
(E)  Question not attempted
Frefefa wwme qure & & 717 adt wwﬂimﬂ%ﬂ%
(A) mfdzTE (B) fadwre
(©)  =avE wwEd! (D) TSI U e
(E) argafwwy

Al ® ’ [ PT.O.



19 “The Indian War of Independence”, book was written by whom?

(A)  Veer Savarkar (B) Mahatma Gandhi
_ | \O
(C) R.C.Majumdar W0 (D) Baba Amtc N
(E)  Question not atteifyted o
‘zzﬁmmms&ﬁm“‘[{mmmmm ™
(A) =i (B) e i 0
SO) s (D) T ©
(E) gafawa :::
i
20 AP AR N @
(A) T i uter i e et frsk (B) v oyt zfat an o e
Q) Wﬂﬁz@fﬁ%wmﬁ%ﬁl D) AT %1 U et A ata afrf e
(B) sraf@ws o S
: :
21 1 e g e i ool
He-1 : il e
a. A e . HamMEEAr
b WA I wEE s E
c. ARG YHAT) . s fae E;!
d  FOSTISTEA 1v. e [
13 fag g e & e v e < co
) a-NLb-1V,c-Jid-I B) a-lULb-Mc-1v,d-1_ &
(C) a-1V,b-TILc-kd-1II ©) a-Mb-V,c-m,d-1
(E) omafawa i s
W0 0

22 At the time of India’s Ifidependence, how many Riyasat were there in present day Ra;asthq;’ (Rajputana Regi
{Choose the most apprupnate option from below)

w@rﬁmmﬁr%@ﬁﬂ TSt 35 T (ST &) 3 et e off 2 (ﬁnﬁ%wﬁwﬁmﬂq,

(A) 29 C.‘.! iB) 19 O
© 21 ar (D) 25 v
(E)  Question not attempted / At 94 vi
23 ‘Indian National Army’ (}NA} was created by- (Choose the most appropriate option from bélGiv)
(A) Netaji Subhash (.El;ﬁ}ndm Bose (B) Lala Lajpat Rai (")
(C) Bhagat Singh  «ff (D)  Bal Gangadhar Tilak ;Ij

(E)  Question not attéripted
weefirez arret i (€A, v,) e fae g e {ﬁmﬁﬁm“ﬂ“ﬁmﬁ)

HA) ﬁaﬁﬂgﬁmmﬁﬂ;’ (B) ST SS9 T et
(©) wird foe :: _ (D) aret v faers i
(E) aﬂﬁﬂﬂﬂﬂ

(1]

T
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Match List-I with List-II.

24
List-I List-11
a.  Chipko Movement L. Afro Asian Conference
b. Bandung Conference 11. A proposal made by big industrialists in 1944
for setting up a planned economy
c. Dr. P.C. Mahalanobis [Il. An environment movement to prevent cutting
down of trees
d. Bombay Plan IV. Economist under whose leadership the Second
Five Year Plan was drafted
1 % w1 6 firem ik
TEt-1 get-11
a. =1 31 L I T e
b  EIETEEEH L e P srderaw wfi w5 & fog 1944
3 w2 Safadt g foan T O wEE
c. 21 weeERE L et werd e ¥ o o wata e
7 v, vl forrds e o g Gt e
. wrefter daw e mr Ot
Choose the most appropriate answer from the options given below:
43 f e fysredt f & watfirs suge ST
(A) a-ILb-MLc-TV,d-T1 B) a-Lb-MLc-IV,d-1II
(C) a-ILb-Lec-IV,d-1II (D) a-NLb-Le-1V,d-I

(E)  Question not attempted / 3TTAT S
25  Inwhich of the following year United Nations adopted the UN guidelines for consumer protection?
s g 3 P 3 @ e o e s & forg 3% T & fean et =t AT
(A) 1985 B) 1979
(C) 1981 (D) 1983

(E)  Question not attempted / ST T

26 Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(C) LIC (D) IRDAI

(E)  Question not attempted

Frrferfiae & 1 e shee e & sl i o P el €2

e (B) Rt 3
S SR (D) 7. W €. w3y,
(E) wgafaayd g e,
27  Who is the head of the Indian Audit and Accounts Department?
(A)  Attomey General of India . o = s Wiy
(C)  Comptroller and Auditor General of India (D) Prime Minister
(E)  Question not attempted |
vt Sl 3ie S fam 3 s A 82
(A) VI & Eramard (312 o) =) mﬁﬂm#ﬂm
(C) wra % e vl meraamatieas ) |
(E) rgafe gy
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L Hy bR g \C
Which of the following is nof o trﬁmhlulmnni post? */

(A)  Speaker ") (), Govemor M
(C)  The Chicf Justice = (D) RBI Governor <}
(E)  Question not attempted E f‘:
Freaferfia o & aa an v el ve = 2 oo
(A) oo sy ofany (B) T o
©  WEr i (D) e g )
(E)  arqafa wy U —

As per the Constitution of Indm‘ }I:c name of a state in the Union of India can be altered by -
(A)  Parliament o (B)  Cabinet Committee \&
)

(C)  Govemor < (D)  President oy

P-'l

(E)  Question not attempted

(A) a (B) vifidze wfufa a
(©) - (D) Tgfa Q
(E) agﬁﬁa e i i
Identify the maosr appropriate English translation of the given sentence: ™
T UG AT T @ o e At e mm '
(A)  Fresh air can be had only Gutside. ~£B) Hecame out to eat a little f!r:é'sh air.
(C)  He came outside for a breath of fresh air. (D)  He gulped some fresh air Sutside.
(E)  Question not attempted I™ g
0 >
Choose the most appraprm.re Hindi word for - “Endorsement”. o
(A) st = - (B) WIAFET o
(C) Y= & i (D) WA i
(E)  Question not attempted Ly
Which of the ful]owmg best dek?nbes the function of control unit? 0o}
(A)  Perform the arithmetic o muons m
(B) Control the operations uf,gxcmury, processor and input/output devices. <7
(C)  Perform the logical npcrali,:ns. >~
(D)  Convert the external datafo form understood by computer. o)
(E)  Question not atln:mpled -
Frafafaa i, W@E$WWmmmh v
(A) Fnivrd giaem =1 ™~
(B) #uify mﬁmﬁnmwmwﬁ%ﬂﬁmmwﬁuw
(C) e aftarer @ 0
(D) mmmﬁwm@wﬁqﬁaﬁhm o
(E) =af@Euy ™ <
Khadi Kamgar Arthik Protsahdr ojana has been implemented in the Rajasthan state fro O~
(A) 16 July, 2024 - (B) 13 July, 2022 W
(C) .14 July, 2022 ) (D) 15 July, 2023 o
(E)  Question not attempted ™ ™~
TEAEAT U H ) monre stifidan sivemen s sy it sl o ™~

(A) 165, 2024 (B) 139, 2022
(C) 149, 2022 (D) 15 3end, 2023
®) SR ‘

Al ® §

mmémﬁum%mgm mqmé;%m“mmﬁmﬁrﬁmnnmmwhaﬁaﬁ’mmm?

[ P.T.O0



34  Match List-I with List-II :

List-I List-11
Scheme Launched
a. Shudh ke liye youdh L 26 October, 2020
b. Nu'!:EL Rajasthan Abhiyan 1L 18 December, 2019
c. Indifd Rasoi Yojana m. 20 :‘\ugust.}iﬁz{]
d.  Indirh Gandhi urban credit Iv. 24 Fcbmar};-:’-m‘
cmdr?ojana «,
aeft1 5 e el 46 vt e 0 :
“f@ eIl
AT R
a  YE® IR L 2637, 2020
b, O e st o 18 e, 2019
c. sRaiwEdsE ML 20 3, 2020
d. ?ﬁﬁfﬁhﬁmﬁaﬁzmm V. 24w, 2021
Choose the most appmprm.re answer from the options given below: “‘1
At fo e feredl H & wrarffires guges 3w T .
(A) a-1v,b-il,c-1Ld-1 ®) a-Lb-ITg-lLd-TV
(€ a-ILb-IEc-1V,d~I (D) a-INLb- 1'5:: Ld-1II
(E)  Question Aot attempted / FIT TH : vl
3s Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (Choose the most appropriate option from
below)
(A) Southem Rgasthan (B) Western Ra{‘]gsthan
(C) Eastem R£J than : (D) Northern Rajasthan
(E)  Question 5‘; attempted
sﬁ'amﬂzﬁmqﬂa?ﬁm (. <ft, o, o) = Pl & & fradhr Je, Gﬁﬁgﬁ@mrﬂm%‘? (P 7 & w39
faea )
(A) TIE'Q? (B) izt tma@
(©) qEﬁI'Rﬂ?JT-‘-T i (D) et UL
(E) ar:mﬁ?mx pa
36 Salt water crococus is main fauna of which of the following biosphere reserves?
(A) Panna ) (B) Simlipal £y

(C) Greathcg%_ar (D)  Kutch  ¢¥§

(E)  Question no‘ attempted S1
@&wwmm@ﬁn%ﬁﬁaﬁﬂﬁmaﬁanmﬁﬁmg@wﬁa%? B

(A) (B) FRmfemmer o0
(€) azﬁm'\m : D) #F=w O
() gafawgy |
37  Which among thé following is the longest river of Rajasthan? ™
(A) Khari (") (B)  Chambal ‘O
() Luni <t (D) Sabarmati (1)
(E)  Question §0t attempted o
Frerferfiaa # & Toreum o wad el 74 #947 € 82 -
A @t O (B) g 0
© =t 4 (D)  wrgh ©
(B) rgaf@ wF-{ i
1

[ P.T.O.
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38 The Thar desert comprises the desert triangle of three cities - {Choose the most anru;nate ;plmn from below)
(A)  Jaisalmer - Jodhpur - Bikaner (B) Jaisalmer - J-adhpur - Barm 43
(C) Bikaner - Jaisalmer - Pali (0). Bikisot - Jaigalores: - Barmer
E uestion not attempted
ilé‘{ﬁlﬁlqﬁﬁ ?ﬁqmﬁw?ﬁwﬂmﬁﬁmmﬁﬁﬁ, g & - (et 8wy e e )
(A) ST - St - e @) e S - AT
© . dere - reh (D)l - e - AT
(E) STaia wy
39 What is the food pattem ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and puly,
launched in Rajasthan in the year 2007-20087 , . . 44
T i ad 20072008 3 sy v m i 31 21t 2 it e e i (. O, TEL TH.,) F AU GOZ W Gop
@ o Yz e
(A) 80:20 . (B) 60:40
(C) 50:50 (D) 70:30
(E)  Question not attempted / A T
40 Which of the following sector plays most important role in the economy of Rajasthan state?
(A) Education Sector (B)  Industry Sector
(C) He‘:ﬂth Sector (D)  Agriculture Sector 45
(E)  Question not attempted
e T Ty 3 & 2 e, vt w9 & s wreer s &
(a) femmam (B) wEmd .
(C) w=mwmay (D) Fham
(E) Srmfaws
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A)  Soyabean and Cocoa (B) Cotton and Tobacco
(C) Teaand Sugarcane (D) Coffee and Cereals 46
(E)  Question not attempted
Frefeafias & & = o s v vt (S wea 8 (Fre=r 1 8 vt aeges fores )
(A) HrEE A FE (B) =T 3 ey .
(C) =it (D) 3 s
(E) Fquita 9%
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate pove for
Rajasthan state during the financial year 21}22?2023. ' SR et
(A)  slum poor ' (B)  rural poor
(C)  urban poor (D) tribal poor 1
(E)  Question not attempted
ﬁmﬁzonaﬁ%@uawnmﬁmmmﬂﬁmﬁmm-m-m.tm.}m&mr:am #
el I e % foro forar a3 —
(A) it = gy (B)  mmhor kg
(C) wreh iy (D) s fids
(B) g
Aann] ® - 19

Whic
(A)
(©)
(E)

(A)
©
(E)

‘Do
(A)
(©
(E)

(A)
(C)
(E)

Natl
(A)
(©
(E)
e
(A)

(E)

Col
(A)
(&)
(E)

(A)
©
(E)

Fir
(A
(C
(E
Y
(A
®e
(E

[PT.O- A11]
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44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?

(A) Haldia refinery (B)  Mathura refinery,
(C) Koyali f,ﬁnery (D) Digboi refinery ,.;—1
(E) Quest{gﬂ not attempted {!
Wﬁ?ﬂ%ﬁmmm#mg? fe
(a) e el @) g feert
© e T oy fomd et
® oERRESH i

pi X
‘Doddabetta’ is the highest peak in Tamil Nadu. This is a part of which of the fﬂ{I{q,lwing famous mountain range?
(A)  Pir Panjal Mountains (B) Nilgiri Mountaini{ "‘:l
(C) Aravall Mountains (D) Satpura Mnunmigfﬁ
(E) Qucstfﬁﬂ not attempted 1_~.:.
Srerigr AT ) e < e e e g e A 7 7
A) R wﬁnﬁﬁ @ SefdeEs O
(©) FEEEd (D) wagETEfEAl
(E) owgefays v
MNathu La Passg_is situated in which State / UT of India? W
(A)  Arunacl : 1 Pradesh (B) Meghalaya £
(©) .!amm;.ld_nd Kashmir (D)  Sikkim <
(E) Question_ not attempted # -
FTeLT T () T 3 T e / S s e &2 w
(A) TN ®) 3
(C) = TR Ap) Fafeww -
(E) SHuRayd : :
Colour blind person is unable to discriminate between : 0
(A) Blue and green colour (B) Red and yellow {.gl-c]:-ur
(C) Blue dnd red colour (D) Red and green cozﬁam
(E)  Question not attempted ,
ot (e i) =afes et G e e e vl war g
(A) en AR (B) e AT
€ e sfiemE (D) WIAETLT oy

el
(E) JgoRasd

" O
First Indian spagecraft which will carry 3 members and will orbit for 3 days in spack is :
(A) Bhaskar3 (B) NISAR i
(C) Gaganyaan (D)  Spadex bt
(E) Qucslm not attempted Q0
o i e it 3wt 8 o she s i 3 i e
(a) s ®)  wWardrwam
© : (D) ¥y
(E) Taita wd

® 11

[ P.T.O.



48  Which of the following is not the allotropes of carbon?

(A) Diamond (B) Fullerene

(C) Ethanol (D)  Graphite

(E)  Question not attempted

Fre=fafiaa 3 8 ia-ar el F1 srawey @) T@ &

(A) T (B) FerH
L) e (D) IR

(B) i v

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B) 15" Constitutional Amendment

(C) 16" Constitutional Amendment
(E)  Question not attempted

mmﬁﬁmmﬁmﬁmw%mﬁﬁﬂmﬁqﬁﬁméﬂaﬁm&aﬁwﬂ?
(A) 1831 sfeam geiam (B) 154t wfaum guias

(C)  16ai |feum deiu (D)  17at wfra Gt
(E) Agmiausy

(D) 17" Constitutional Amendment

50 Match List-I with List-11.

List-I List-IT
a, Goods and Service Tax I Article 82
b. Delimitation Commission 1L Prime Minister
c. Survey of India II.  Dept. of Science and Technology
d. Dept. of Atomic Energy IV. Article 246 A
FEI-1 3 | Feft-11 = e Fifs
Tefi-1 -1
a. SR UEEATH I TR 82
b.  fHmT R I st
c. R Ao (|3 3 ifEam) m. e iR drenfieht fnm
d. oy s IV. 383246 A

Choose the most appropriate answer from the options given below:
e fw e fraredt # & warlfires Jugw saa

(A) a-1,b-IV,c-1,d-1I (B)
(C) a-1V,b-Lc-Ill,d-11 (D)
(E)  Question not attempted / H@ﬂﬁ o4

a-Lb-1Lc-1IL,d-1Vv
a-1V,b-lllc-1I,d-1

51 The concept of ‘equality before law" is an element of the concept of *Rule of Law” which was Propounded by -
(A) lvor Jennings (B) " Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E) Question not attempied
FHT F WA GHEAr 6 FTION F e AT o1 O et 81§ R wp wfrfig St
(A) S St (B) S
4C) T (D) @S A
() FIaRau )
) 1
Al @ ,

[ P.T.O.



52 The ac-:rual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
| et srerarffey s Rt e i avamw oy (e 4wl I e )
(A) 10% (B) 9%
(C) 8% (o 7%
(E)  Question not attempted / aﬂﬂl’tﬁ b

53 GST Council is a Constitutional body established under the following article:
e T WA R AR U Hawn P @, Forereh T Rrerferfiae 6 & form T=% & St 1 d 87
(A) 122 _B) 219A
(C) 184(1) (D) 247
(E)  Question not attempted / SR W

54  Which of the following tax gencrates maximum amount of revenue for the Government of India?
(A) Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted

frafafga § @ S wT R, T T 3 Foru Ty o = SuTe AT 87

y  FfiE @) (B) FEH
© fshia (D) HHI{EH
(E) SATaie 9%
55  Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D) Alcoholic Liquor

(E)  Question not attempted

P & & 2 g T e o o Rl & e 7

(A) e fafe (B)  Wrfaeh e
) g D) HEHT
(E) Huiawd

56  Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was
offered a jagir in Rajasthan, he would choose that fort 7
(A) Nahargarh Fort (B)  Chittorgarh Fort
(C) Taragarh Fort (D) Bhainsogarh Fort

(E)  Question not attempted
Friferfia & & Faer ot o g & safonr Bt Ffeen SRt S 2 3 e o, af 3 aroveerr 4 foveft wfre 1

Sy 1 ST, @e 8 g6 R A ?
(A) =reuTg e (B) sty frem
(c) g e Dy g fe
(E) ui@ad
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A) Shekhawati (B)  Hadoti
(C) Mewati (D)  Vagri

(E) Question not attempted

am_waﬂtmﬁsmm%qm%ﬁﬁmmimtﬂ?ﬂwnm

(A) dramErd (1) wrEd
(C) Hardr (D)  anrd
(E)  avgafe '
Al ® 13 [ P.T.O.



58  In which year was Kalbelia dance form included in UNESCO's intangible heritage list?

PICTAIRTAT T S 9 o et o o e g e v o

(A) 2011 (B) 2008 [32)
(€) 2009 ey (D) 2010 i
() Question not attempted / rgafe war [
. o
59 Fillin the blankﬁmth the most appropriate option : éj,
TG T =y fomre & i . !
29 265,126, :j
Hap dpt T ®) 204
(C) 194 ™ (D) 206 0
(E) Qucstioﬂil'lm attempted / TR war ™
60  Inthe given quiestion, choose the number letter group which is different from the others
T 5 o HETHE I 9 37 F 3 B [~
(A) OE3 (M 8] PH3 w
© x2 O (D) IBs o
(E)  Questionot attempted / Hﬂﬂﬁ‘cﬂ‘ﬂ i
61 When was Raj;:tihan Information Commission constituted ? B
(A)  April 28, 2006 (B)  April 18, 2005
(©)  April 185006 (D)  April 28,2005 ‘O
(E) Qua:stmmot attempted ™
ST T ST 357 T o g <
(A) 28 318, 3006 (B) 18ade, 2005 [
©) 18 aaﬂa‘?:?‘ouﬁ (D) 2837w, 2005 (0
(E) aagaﬁ—crsm 2
62  Which of the fqll{)wmg Position is not mentioned in the Constitution of India? |
(A)  Loksabha Speaker (B)  Prime Minister
(C) Chief Minister (D)  Deputy Chief Minister
Questlwg‘got attempted W
ﬁwrférﬁgaﬁﬁ #wmm#ﬁmﬁmm%mm@ M
(A) ?haamnﬁwa (B) W id
(©) g@mﬁ"r? (D) 9 qEmH E;
®) SRy o
63  Who among the-following commonly serves as

the Chancellor of State Universiliq;?.{
(B)  Prime Minister
(D)  Chief Minister

(A) Governgry
(C)  Minister of Education
(E)  Question'rot attempted

Hle
frferfia # afm ﬁ?mﬁuﬁmﬁ#mﬁ%wﬁmmt?_ "
(A) TegTE sl (B) warid <t
(€) farem i~ (D) HEHl I~
(E) awiafcaj% @
64  Geostationary ;:E?fllues are positionedat ____ km upward distance from emlglﬁace.
‘prnaquﬁasr‘ﬂﬂqwﬂaﬂ____ﬁ?mmﬁ@mﬁmw!l el
(A) 45990 (B) 26000
(© 36000 (D) 55690
(E) Question not attempted / Hﬂﬁﬁﬁ aa
All]l ® _ 14
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65

66

67

68

69

70

)|

Concentrated nitric acid (aq) reacts with copper to give

(A)  Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted
A TR S (aq) T (@TR) & st ek 3T b
(A) TR TGS T STEATREISM Siree (B)
(C) I AT, ARG WHIFaT5E U wrefr (D)
(E) 3Tgufta wx
Son river is a tributary of which of the following?
(A) Narmada (B)
(C) Yamuna (D)
(E)  Question not attempted
"l P A E Rradh wems 1 &
(A) Har (B)
© =g @)
(B) R
The Southern most Himalayas are known as p
(A) Aravali (B)
(C) Himadri (2)
(E)  Question not attempted
T (warer) 2fiqor fewers =it o = & S ST 8 7
(A) TEeT i
(© feurd ©)
(E) Fguiasns
aTer, YT5e TR HaT T ST 87
(A) WEEEH (B)
() =ftwrara® (D)
(E) igaiaua
e o e & e S T Pt 2 B 7
(A) HH= P
© @ (D)
(E) IFafsa
for waE # Tt 92 JuT € 7

+A) B {(11;;
(c) 7T
(E) :ﬁaﬂﬂﬁ a4q
ey v 3 i GO 1 AT e e -
ST i - ()
© e D)
(B) orgEl@sd 5

All] ®

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

T ATGEE U BT Ay '

Ganga
Mahanadi

Shiwalik
Himachal

franfe
femmae

afea wery
& ey

[ P.T.O.
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L

5 HYIT o l'lt h 3?
How many numbers from 11 10 70 are there which are exactly divisible by 7 but not by

(A)  Six (B)  Nine
© \“ o (D) Seven
(5 l.,ilcsiinu not attempled D
1R 705 et Rty e R 7 i v & g 3 3 ania
(A BE @ A o
() q (D) W e
(E) ) R uy o

T Armangg the tollowing words according to dictionary arrangement; £

BN S R R R —— ST 3 1w saftua i

= b - ]
a. Except b, Expect
Excess
—tt

d. Exit

Choose the most appropriate answer from the opti i low!

t ptions given belowd )
et Ry f&aﬁtﬁﬁi’twﬁmwmzﬁl )

A s d, b

() b, dryc
() &h‘;d, ¢

(D) e dingb
(E) ugstion not attempted / Fgafa uy 00
74 Choose'iik venn diagram which best illustrates the three given clus.gg:
T8 3 SR Y S PR el i o e e i
Flowers, Red, Fruits e
R S AN AT
¢ v - o 4 O
3
]
w O rRELD
m e 1
)
o Bo o @D
\ .
. - i
(E)  Question not attempted / Mﬂﬁf{?\’!ﬂ
78 Which éF‘me following two states have a joint plan under Mahi Project? .
(A) ajasthan - Haryana (B) annf}i;an - Madhya Pradesh
(C) asthan - Punjab (D) annséihan - Gujarat
(E) uestion not attempted

r-s
H 8 ot A T e A o

() S - et (B) TS - W sy
(C) USHM-Y9

(D) ST - AT
(E) ﬁaﬁﬁw =
76  The chidkbteristics of computer in which, computer can perform k(gﬂ‘crcnt tyPes of tasks with L
known £33
(A) Diligence (B) Spcm
(©)  Versatility (D) Religbility

(E)  QUestion not attempted
sz R .2t e, et g e e el AT et e

(A)  wfean ) “ﬁ"¥.
© e Ll
(E) raf@ws

Al ® e

i ?ITUO. *



77 Select the related word from the given options :
Animals : Zoology :: Blood : 7
(A)  Entomology (B) Hematology
(C) Palhulogyr] (D)  Anatefny
(E)  Questionmot attempted O
ferw o faraerdt 3 & wieifira yreg 1 w5 it (Y
ST G’iﬁﬁi‘l‘ﬁ-ﬁ{m : 7 e
() SAIED ®) feermh
(C) et r~ (D) U.'-|Tfltﬁ “ ’
(E) rgaf@ warl )
78 628,429,183, 249, 416 '
From the above Q’ﬁucncc of given numbers, what is the sum of the unit d!glt ol"thlrd number from left and tens digit
of the fourth number from the right?
mﬁmm#mﬁ =1 it v Y g F wazﬁﬁaﬁmﬂmﬁam FHFT AN Y
(A) 6 _(B) 3 e
© 5 ':3 ® 7 o0
(E) Questiun'r_z:n%t attempted / T ¥ L ».
79 Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi i ls the only son-in- law of Bhumi's mother.
How Ravi is related to Sangita?
(A) Bruther-lgﬂaw (B) Grandson | 0
{C) Uncle < ' * (D) Husband a!!' Ei:anddaughter
(E) Questionno ;I\t attempted el
gsﬁa\ﬁhﬁqﬁﬁ‘dvﬂmwmil tﬁgﬁaﬁwmmmw%rtﬁwwﬁmﬁwma
(A) FREH o (B) = o
(C) 3iFa o=t By e wrafa o
(B) rufeaua vl
80 ‘Who among thc‘lﬁ!owing established mobile reading rooms and libraries at various places in Rajasthan?
(A) Komal Kothari ' (B) Pt Jhabar Mal Sharma
(C)  Acharya Tulsi (D) Swami Kespwanand
(E) Question t attempted
ffafaa i 8 W#ﬁmwmmﬂﬁwwwmﬁmaﬁn
(A) FEEFEN (B) e wET e I
() =T ] (D) i FwEED
(E) Huia w% pef
\0 pord
81  Which of the folldwing leaders led the Bijolia movement? ik
(A) SurendraSihgh (B)  Vijay Singh Pathik
(C)  Chuna Réni Punia (D)  Kanwar Vijay Pal
(E)  Question'ot attempted i"‘."'
mﬁa%ﬁa&mmm&qﬁaﬂn 00
{A) ®)  fowa fiig o
sﬁ#r (0) e R
tE} ‘*T:l."‘ﬂ“*‘ i
All] ® 17 [ P.T.O.




82 Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka
(©)  Goa (D) Tamil Nadu
(E)  Question not attempted
PR Tt & & sivea i faver v s srersrer feo 22
(A) sAfsmw (B) e
(C) Tar (D) afirerTg
(E)  srgafia war
B3 Which of the following mineral is non-
(A)  Graphite
(C) Coal
(E)  Question not attempted
Pt # & #w a1 afm SuTTeaeh Ue srerTalfis 7
(A) Iwz (B)  Wifas |
(C) =igen (D) WAferEm
(E) gafa wy

Read the passage and answer the questions that follow: (Q. 84 to 87)
Show me a doctor who is not confused about nutrition an
Though nutritionists like to claim that basic nutritional adv
brings new studies, new research and new health
contradictory and further confuse lay people.

Part of the problem is that many studies are financed by the food industry, which'hags a vested interest in the outcomes. An¢ 89

much of the so-called nutritional wisdom that has been propounded over the decades does not emerge out of pure science bu
out of the commercial interests of those passing on the advice,

The most famous example of this sort of thing may be the rule -
breakfast is the most important meal of the day.
for your health.

metallic and inorganic?
(B) Natural Gas
(D))" Petroleum

d T will show you a doctor who has not kept up with research
ice does not change from year to year, the truth is that each weel
warnings. Nor do all the studies agree with each other. Often they an

rigidly advocated by some doctors over the years - the
Skip breakfast, you will be told, and there will be damaging consequence:

You can trace the roots of the advice to (surprise, surprise!) the American cerea] industry and to such food faddists as the
Kellogg family (owners of the eponymous cereal company).

It has always been a peculiarly Anglo-Saxon idea. People do eat breakfast all over the world but they do not necessaril
attach such great importance to it. Nor do countries without a breakfast tradition see a sharp decline in public health, For
instance, in France, breakfast may well consist of black coffee and a cigarette. The cigarette is not a good idea but the
absence of solid food in the moming doesn’t really hurt the French very much. Until the fast food industry spread all over 20
France in the last decade or so, the French had much lower rates of heart disease than most Eng]ish-spmking countries,

In the US, the bogus breakfast orthodoxy has led parents to feed children sugary cereals and stuff like pancakes with sugy
syrup (often misleadingly packaged as maple syrup). There is finally a recognition that the breakfhstnis-essmtial myth ha
actually contributed to a decline in American public health, the obesity epidemic and to tooth decay. Manufacturers o
sugary cereals are quickly putting out new ‘low-sugar’ variations. .

Some doctors still insist that the first meal of the day may be the most important. But the scientifie

evidence supports the
view that if you avoid breakfast nothing terrible will happen to you.

84  Complete the sentence by choosing the correct option: 91

In reality the benefits from advocating the need for taking breakfast. .
&%)  food Industry (B)  general public (
(C)  French people (D) children ¢
(E)  Question not attempted (

All ] ® 18 ' [PT.O A1 ]



85

86

87

89

90

91

According to the conclusion of the passage, breakfast -

(A) Contributes to an individual’s health. (B) Is cssential and not to be skipped.
~C) Skipping canngtharm you. (D)  Is the most significant meal of the day.
(E)  Question not gttgmpted ")
k ) ] L~
In America, obesity &hd tooth decay have assumed the proportion of an epidemic because of the -
(A) Consumption of savoury food (B)  Vested interest of the general public
{C)  Consumption of sugary cereals, (D)  Greek idea of bréakfast.
(E)  Question not attémpted i
v i
Bogus means .
(A)  Confident ¢y AB) False L9
(C) Big ™ (D) True (v}
(E)  Question not attempted =f
[~ T

Identify the most appropriate idiom which can replace the underlined words: co
Rohit has the reputation of complicating and confusing things when any issue is‘raised in the meeting.

(A)  got our wires crossed (B) as clear as mud
4€)  muddying the Whters (D)  in complete shaciblos
(E) Question not attempted

A e \D

Which of the followifig{facility is mainly provided by E-mitraplus initiative of ]ﬁ‘jﬁsthan‘?
-

(A) Video confereriging <
(B) To apply for birth certificate, domicile etc. ["‘
(C)  Payment facil{tyfor individual firms o)
(D) GIS based Debision Support System =
(E) Question not a"l'fémpted :j
forrfirfiaa # @ #1 S g yera: Terer i §-fnee Teet B war i St 87
(A) difedr w6 (B) S WH1UT O, JAfirar & forg smeeT o
() fafire ufier sy < gl (D)  sft. a7, . st Foly ger womef
E) sEafama (o $
=
Which of the followibg-input device is used to input temperatures and moistare ki
(A) Sensors @ (B) Webcam 88
(C)  Scanners o (D)  Joystics 3

E ion not dttémpted

L Q"";’;’?ﬁq’"’m'mpmc o i AT S ST e () S e P S 8 2
(A) H (B) T
(C) ¥ ﬁ (D)  Shafe
(E) sgaf@asd

Identify the word tha ggn best substitute the given expression:
One who is too strong19 be defeated.
(B)  Invulnerable

(A) Invincible
(C) Indefatigable | (D) Insolvent
(E)  Question not attempted

11087436
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93

94

95

96

97

98

All |

Identify the most appropriate antonym of the given word from below:
APATHY

{A) Fervor ()  Stoicism
(C)  Stupor (D) Aloofness
(E)  Question not attempted i

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with o -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D) Signature

ﬁmﬁﬂﬁmﬁrﬂn%ﬁWhﬁﬁ%wﬂmﬁmmﬂmmﬁ?mﬁ%mﬁ?ﬁwaﬁﬂmmﬁ?

(A) T fam, 1976 (B) v nfirfaam, 1963

(C) Tt sl 1967 (D) e fFram, 1973
(E) orgafa wa

“Frater FIo, ey 3 & e el 3 Rvar smar e

(A) o9 Oy (B) oW qe

(C) weaw gow (D) 3= o

(E)  argefa war

Which of the following language is not included in the Eighth Schedule of the Constitution?

(A) Santhali '
(C)  Sindhi
(E)  Question not attempted

ﬁqﬁif@aﬁﬁﬂqmwﬁﬁmxﬁmwﬁwﬁa#ﬁ%?

(B) Nepali
(D)  English

(A) Huret (B) Juredt

(C) faft (D)  aitsh

(E) sgafawa

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mehta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted

for fareardt o Saren 2fiv e o et i vt Tt eI 2022 e R

(A)  drersfia g (B) e HEar

(C) wfErean (D) I ST IT<tar

(E) argafa ug

Which one of the following is not a Fundamental Right under the Constitution of India?
(A) Right of Freedom (B)  Right to Education

(C)  Right to Property (D) Rightof Equality

(E)  Question not attempted

Frafefaa 3 & 27 a1 v v & e difers s 8

(A) wdFar 1 s () faram e siftra
(c) wafa e s (D) T AT S
(E) Agaf@ws

® : 20
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99  Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
(7 doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn't furnish

(E)  Question not attempted

100  Choose the most apprapriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a,the, the (B) a,the,a,a

(C) the,a, , the (D) an, the, an, a

(E)  Question not attempted

101  Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969101972 (B) 1957 to 1960
(C) 1961101964 (D) 1966 to 1969
(E)  Question not attempted

T Gt derei # & By F & 9 8 o ot i D s St e mEr an

(A) 1969% 1972 (B) 1957 % 1960
(C) 1961 § 1964 (D) 1966 & 1969
(E) orgaRaws

102  Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-
<7, wfraT 37 STt S faTe geran e Featad § 9 o e i ey o o
(A) 2012 (B) 2006
(C) 2007 (D) 2010

(E)  Question not attempted / SF¥fE 7

103 Rajasthan handicraft policy has come into force on
(A) 23 November, 2023
(C) 18 September, 2022
(E)  Question not attempted
T g i Fran g il
(A) 23749« 2023
(C) 18 firda, 2022

(E) oufta v

104 NITI AAYOG was established on: (Choose the most app
(A) 1% January, 2015 (B)  1*January, 2014
(C) 15" August, 2014 (D) 15" August, 2015
(E)  Question not attempted

<Ay s <6y e 7 el (e 39 e )
(B) 15Wadl, 2014

(B) 17 September, 2022
(D) 20 December, 2023

(B) 17 fasw, 2022
(D) . 20 fawar, 2023

ropriate option from below)

(A) 15=aft, 2015
(C) 153774, 2014 (D) 15 37T, 2015
(E) e w4
All) ® 21_ [PT.O.




105 Choose the correct combination from below:

(A)  RRB - Agriculiural Finance () 1DBI - ShafTerm Loans
(C) RBI- Lunﬂ'mn Loans (D) SBI- Mmf-;-‘lftry Policy
(E)  Question not attempied N
Freerfaa 0 i v ) e i
(A) o, A i (B) 3. &, s oq, - arewfer® O
(C) e aft. 3id)- defamferas s (D) v, aft, smrf-dsitfaes fifa
(B)  gafa wi:'; v
r

; . : . ial Se in 19917
106 How many industries were reserved only for public sector before the dcrEguIallun of the Industrial Sector in
it

(Choose the most ippropriate option from below)

N "
1991 3, Sieifien ¥ 2 fafiamrr & o, Sreen ardrfes a3 fove et et s iy (Frer -8zt e Free )
=B

A 17 (B) 20 iy
(€ 14 E; D) 24 @
(E)  Question not attempted / 3R w5 ©
- .
107 9 & FH-81 et o qataarh o€ 29 0
(A) SfeArs _ (B) gy O
© T W ® T
(E) 3rgafta wg') it
bl I~
108 = a1 %9 fag . by
T - 1 - forowr g el fommr o vt 3 o e s 2 =
FuA - 11 : fare 5T 3 era sl & o1ef =1 v off & s ) :
@m%mﬁmmﬁ%mmﬁmgﬁ:
(A) 97 17T &, forg o 11 et R (B) A I 3R 11 T weh &)
(C) e 1 S lE mer #) (D) wtaﬁ%]‘ﬁﬁwnmm
(E)  srgafeasgn) =
=t I~
109 F=fafae § @ 2 att sem # 0
a, ECQ b, El -
c. Hg d, £l :::
e. 'Tr__l
A1 fav o fordt 8 & wrafferas zage s v W
(A) Faab,d ¥ e (B) &b, c 3y
(C) Eﬁﬁ'ﬁa.c@c (D) &iﬂﬂu.tl?}:e
(E) aigﬂfmwi«“_ 0
0 =
110 ‘Dcpumicn'%@fgﬁﬂm&qzmg_ -
A faf @) Ry
© fafs (p)  whnfa
(E) eife wg
All]l ® 22 | P.T.O.




1 Fefefaa § 3 il g s e-
(A) snfafasm ()  avshfaeer
(c) wfafam (D) mshfa

(E) wgaftausy

112 Cooperative movement in Rajasthan region was started in the year ______. (Choose the most appropriate option

from below)

TSTETA 8 3 e Aidrer i s anf it g 1 (Fyer 3 & iy 3 ke )
(A) 1914 (B) 1904

(© 1910 (D) 1912

(E)  Question not attempted

113 Given below are two statements:
Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (I1): Sodium metal reacts vigorously with nitrogen.
In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (IT) is correct.
(B) Both Statement (I) and Statement (II) are correct.
(C) Both Statement (I) and Statement (II) are incorrect.
(D) Statement (I) is correct but Statement (II) is incorrect.
. (E) Question not attempted
e (I): Bifeas urg 1 frdh 3 St § wnfea frar sman & wiifs a8 sreafies fafmarers g 81
U (1) s UTg A1 & Waeral & Sffahar s 8
it et o e #, 11 Ry e foeredt § & e 39ge s
(A) 9 (1) 7T & QR e (1) Wt 1 (B) A () 3 9= (1) ST et &1
(©) == (1) st (1) 3T & e 8l (D) A ()" AR T (1) TTEA R

(E) Haitasd

114  Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post
(B) Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various COmputers
(E)  Question not attempted
s won @, g hefe foger, f @ s b e W Pl sat & R e
ST B:
(A)  WET %l 2T B e & e
®)  falfir st i gt s
(C)  ¥eCie TUHATHT F1 s i iz i wa ¥
(D) e gzt 3 spfiagm g @ e 3 ferg
(E) Aqui@wy

All] ® 23 [ PT.O.




115

116

117

118

119

A7%)  Twice a day 1he seals are being fed at the ZD;]. (B)

In which year the Indian Space Research Organisation (ISRO) was set up?
PRI 3 e e i e s (1) e iy
(A) 1952 s} (B) 1962 (:;l

1969 ) (D) 1972 &
(E)  Question ':'It‘{ﬁi{lcmptcd / s wa { -

¥

Which of the ﬁilluﬁﬂg facility is ot provided by the Rajasthan Sampark Portair?:
(A)  Automatie Peech Recognition (ASR) (B) "~ Grievance R‘:d"if‘_sal
(€©)  GIS integration and data analytics (D) Vidcﬂ"m“r‘"“’"‘iiﬂﬁ
(E)  Question nn‘il attempted
FReRefas 3 e et fr v st v g e gl o e 7 o

AN SR iR e (AsR) (B) Rt =1 e
(©) Eﬁ.ﬂﬁ.m.@maﬁtmﬁmﬁw (D)  ifet kT -
(B)  ¥gafe ws L

(0s) &
Fill in the blank bmnusing the most appropriate option: ©
He was indignant ¥ being cheated by the smooth talk of the salesman. >
(A) at . = (B) with ™
(C) in D) of
(E)  Question nclt%emptcd D

™M &
Change the direct s veech into indirect speech b

y selecting the most appmpria!eiogtion from below:
He said, “I do not wish to see any of you, £20 away,

0
(A)  He told thate did not wish to see us and ordered us to go away. O
~AB)  He said thathé had not wished to see any of them and ordered them to gdn(vay.

(C)  He told that@ did not wish to see any of them and ordered them to go aﬁtv,
(D)  He said that he does not wish to see any of us an

(E)  Question not&ttempted g

d ordered us to go away.

O

M M

Change the sentenceinto passive voice by choosing the most appropriate Gpﬁoﬁ;;l
They feed the sealsi;f the zoo twice a day. 3

00
The zoo feeds ll]tgeals twice a day.
(C)  They feed 1llg_feals twice a day at the zoo,

(E)  Questidn nogaptémpted

v~
120 In Rajasthan putting’d gold nail between the teeth is known as:- f'k'?\
(A)  Borla (B)  Daamna &
(C)  Baari (D)  Choonp B
(E)  Questionn tempted 0
TSIET 3 =i 3 s 3t ity o7 v e o et s e st & -
(A) dwen (B) @O 4
(€)=t 1 (D) |

(E) srafawy

(D) The seals are fedwice a day at the 200.

(T



121 In which Rajasthani folk dance, dhol, bankiya and thali are used as the main instruments?

(A) Gair (B) Ghudla
(C)  Chang 0 (D) Dandiya {‘-":]
(E)  Question not attempiad g *.}
e 3 e e et AT e el e sz are-2fa 3 e i e st #7
(A) ﬂ'{ [‘-.. (B) E'QL_'H f-
(C) (5] D) =ifear f_;

|1 2

et i

(E) iﬂiilltﬁ nq -
o |

122 Where is Nataniyon Ki li:;iv—egi situated?

|
|

- -

(A) Lakshmangarh 0 (B)  Jhunjhunu Ve)
(C) Churu 0 (D)  Jaipur 82
(E)  Question not attem p_lgd =
ot el et e et &7 r~
(A) EHITG o (B) #F 0
© 9I¥ 0O (D) A o
(E) e v vl ™
= v
123 Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P.Sarabhai (0 (B)  Potti Sriramulu O
(C)  Sriram Gandhi {7} (D) Ramlal Gaya f;l

(E)  Question not attempted
| = =1 A1 FATEn ST 1952 7 gures 377y Uy < e & e s w s i g, aﬁt%m%aﬁm’{?mﬁﬂgr
0

T
(A) &1 ot mmd o (B) gt sftny 5
(C)  om ™ (D) THeTE T o
(E) Sgufawg A
O o
124 Given below are two statements: ™M

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily ¥'the uprising of the civilian

population. [ - [~

Statement (I1): Mutiny Wik a collective disobedience of rules and regulations withir the armed forces.
In light of the above staterfients, choose the most appropriate answer from the ﬂpti.ons@-m Sl
™

(A)  Statement (I) is incorect but Statement (11) is correct.

(B)  Both Statement (I) find Statement (11) are correct, A
(C)  Both Statement (1) and Statement (11) are incorrect, :
(D)  Statement (1) is co ‘_ t but Statement (11) is incorrect. \9
(E)  Question not altempigd g}

ey &1 e fau g #: P ~
wer (I): 1857 F ﬁmfrgﬁmamaﬁﬁmsmﬂnﬂmﬁgwm vfies strard o oy @42
awer (11): e (egfertt) e areit 4 vive Franit site fafvasit < angfiess svagn oy o

I T 5 AT 1, i faw o foedt #f @ waE ITGE IO s
(A) 4 (1) T & A g (1) e 1 (B) (1) it (1) 2wt &
(C) T (1) S (1) A ot reer € (D) 0T (1) Wt & ot ver (1) e 3y
(E) . i 9

All | 25
® ; [ P.T.O.



. iven by henna?
125 Which of the following is responsible for the dark brown or reddish colour give Yy

(A) Hydroquinine (B) Luciferin
(C) Melanin (D) Lawsonc

(E})  Question not attempted

A T T S 3T sivgn et ¥ Ry Preafeafeaa it @ e it e 82

(A) T (B) FHH
©) wenf (D) @
(E) i wx

126  Zinc reacts with dilute nitric acid (aq) to give
Frafaftea wfwer 3 fevg s v mfd 3n (aq) & wfafer 2o @
(A)  Zn(NO,),+NO+H,0 (B)  Zn(NOy), + H,0 +N,0
(C)  Zn(NO,),+H, (D) Zn(NO,),+ H,0 + NO,
(E)  Question not attempted / Nﬂﬁﬂ'ﬁ uq

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C) F, particle (D) Centromere
(E) Question not attempted

FrTET (o) 1 et § & F e fewn @ 72

(a) wmfes (B) @wmE
(€ o TRFw (D) @it
(E) Irqaf@yd

128 Which of the following is net a Kharif crop? |
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
frefafas 4 4 #17 wF afts saa i &2
(A) "A (B) W
(C) @~m (D) ==
(E) wafeags

129 If *threat’ is coded as 289512, then *BRIDGESTONE' will be coded as:

ﬂﬁ:'uhrearaﬁlmﬁzugsumwmt,ﬁ~nmn01!§ror41'a'unaﬁzﬂvn:
—~tA) 29947512655 29 (@) 27947513855

(C) 29947612955 (D) 28947612855

(E)  Question not attempted / i@ wm
Alll ® 26
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130 Amar and Akbar start walking in opposite dircction. Amar walked 24 km and Akbar walked 7 km, Then Amar turned

131

132

133

left and walked 7 km and Akbar tumed right and walked 24 km, How far is each of them from the starting point?

(A) 31km . (By  27km O
(€ 25km \C (D) 26 km ™
r'ﬂ

y
(E)  Question not attempted m

waﬂtm%ﬁqﬁﬁﬁxﬁ%ﬂsﬁmmmuﬁr ofy, v aive st 7 6, ft, ST T arepemmar et wpan i

?ﬁz:ﬁ.maﬂzmaﬁ@dﬁ:mWl?‘lﬂhﬂ#r@ﬁrgﬂﬁmﬁ?ﬂm?r a0
(Ay 31 i, o (p) 27w Q{

25 . o, wt (D) 26 B 0. ;
(E) mia vy b

- |
A, B, C. D, E and F are sitting it irow facing north. E and F are in the center, and A and F‘l_aic at the ends. € is sitting
on the immediate left of A, Wheis sitting on the immediate right of B?

A, B, C. D, E 3R F u it & st o ga w5k 43 8§ B ol P i e, aﬂmaﬁtn'rnmi‘lc A % FrF Al T

W AT §1 B ¥ 3 2w wWHRTEI 27 (5 4]
“r D 0 (B) E O
© A o (D) F i

|

(E)  Question not attempted Fﬁlﬂﬂﬁ?{ oy

Select the option that is related to 1he third letter cluster in the same way as the second Itit&:r cluster is related to the

first letter cluster.

ﬁmﬂ%mﬁmmwﬁﬁmﬁqﬂamw%ﬂmﬁ%%mwﬁm@wwm AT AR

=5

) ™~

WOUNDS DNOSUW : : ALMIGHTY : ? o0
ON oS Y

GILHMATY (o) (B) AIGHTYLM. O

(C) AIGHLMTY o (D) AGHILMTY —

‘_1'

(E)  Question not attempted ﬂ'ﬂﬁﬂﬁﬂ g
—

There is a definite relationship between figures (i) and (ii). Establish a similar relationshipbetween figures (iii) and
(iv) by selecting a suitable figu%‘g!'mm the options. So select a figure from the options il would replace guestion

mark (?) ™ <
ST (i) S (i) 3 ey v Ffera et 21 Faredl 8 & ST STHFA 7 w2 T SF (i SfiT (iv) ¥ ol wHE wag

i ﬁﬁt{ﬁaﬁrﬁﬁaﬁr@ﬁrwmaﬁta‘r(?)mﬁ?mmw
Problem Figure / #R&0 uﬁfﬁ i

L= -

Ol |Oli?

(i) (ii) (iii) LO (iv)

) J
o
(A) @ o W %4

(b

o
SR
L

(E)  Question not attempted / alf[ﬂftﬂ w4

Y

11087436 110893

s>

All]l ® =t [ PT.O.
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- inator by 8%, the fraction become 1
134 On increasing the numerator of a fraction by 15% and decreasing its denomina ¥ -]?,
the original fraction is:

15 .
firt 1 T — S B o f
A e R 3 ot 1506 e fe s s g v Y v v o o, et o e Sy
#Hifo -

(A) % (B) %

m% o 9

5
(E)  Question not attempted / 37aRE wa

135 Amit, Sumit and Vinay divide an amount of 2800,

amount of ¥ 200 is added

amongst themselves in the ratioof 5: 6 : 3 Tespectively, iy,
to the share of each, what will be the new ratio of their shares of the amount?
s1fia, gt siv iz 28

00T eIt 5 : 6 : 3 % argurer it ferform v ra 81 af2 weirr o ey 6 2 200973 fry 3
T 37 feit e ST T B
(A) 4:5:2 (B) 6:9:4
A€T 6:7:4 (D) 7:8:5
(E)  Question not attempted / igaf wx
136  Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwai (B) Mahatma Gandhi
(C)  C.Raj Gopalachari (D)  Sardar Vallabhbhai Patel LA
(E)  Question not attempted '
AT YR F Tee] I7-gue) TR e vt A
(A) Tt 310z fread (B)  wgTewT miiefy
(©) 4 s TiaremaT (D)  HER FEerTE o
(E) rgaf@ws
137 After the partition of India in 1947, which of the following archaeological sites remained on the Indian side ?
(A)  Kalibangan (B) Harappa
(C)  Mohenjodaro (D)  Gunveriewala
(E)  Question not attempted
194?:'?11113%ﬁm%mﬁnﬁﬁaﬁ%aﬂ:mmﬁw%w%m%aﬁmqm?
(A)  FrefrEm (B) &g
(©) sy : (D)  Tiatraren
(E) wafauy
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B) KamiMata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not altempied
I A T oy Feaadi ¥y
(A) =5 yran (B)  @oft wren
(C) Sfror g (D) W& wrEr
(E) wqmfaug
All] ® 28
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141

142

Poona Pact 1932, was associated with which of the following Leaders?

(A)  Mahatma Gandhi and Dr. Bhim Rao Ambedkar

(B)  Mahatma Gandhi and Mubammad Ali Jinnah

(C)  Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

(D) Mahatma Gandhi and Pt. Jawaharlal Neliru

(E)  Question not attempted

g T, 1932 Frafefiam 3§ & R S @ wafia o

(A)  weTest it ud 2, i arsrga

(B)  WeTeHT T 3 e aveht R

(€) &, i snaigat ud qee S7ell

(D) wereHt ikt vE i sEmEe e

(E) rgafta s

Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar ' (D) Jawaharlal Nehru
(E)  Question not attempted

Zfea =t wra, farms wnfia fomm

(A) HEwE 37l = (B)  wereHT At

(C) =i s (D) TR TEE
(B) swgaf@ss

SVAMITVA Scheme is associated with

(A)  Soil conservation in rural areas.

(B)  Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted

wafies g, foed weifa 82

(A)  TTeftor SeeRl @Y T HTE

(B) et gel H S €T

(€)  TmHior gereRt i ST v HAE
(D)  eftor gEIeRt T geafi waEwT grsET

(E) Iuiaud

National Panchayati Raj Day is celebrated on

(B) 20 April

A) 26 April
EC; 22 ﬁ:n'l (D) 24 April
(E)  Question nol attempted
st e us feam 1 Ty S el

A) 26 U (B) 20 3fd&
EC; 22 3| (D) 24 wider
(E) omufaws

29
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143 Which of the following is not a Constitutional Body?

(A)  National Human Rights Commission o
(B)  Union Public Servitt'Commission ("
(C)  Finance Cnmmissim; } 'f:"‘
(D)  Election CDI'I'III'IiSSiE[.'I:'II‘ '
(E)  Question not allcmj:-‘;:%d -
R W v e e et & 2
(A R Li
(B) v Qe | ‘
(©) fowamm \O
(D) T ¥ 0 N
() orafaws ™ <P
< .,

144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is T 750 1,1‘}Vhat is the simple inters;

same sum for 8 years, if the rate of interest is increased by 2.5%?

o
trﬁv.s%mﬁmmaﬁra%ﬁfsaﬁﬁqmnﬁmtT,soommmmmaf%a-af’ru‘qqﬁmmz.saemfzz

ﬁsaﬁﬁmma@q"m ™
(A) T 12,000 (B) ¥ 20,000
(©) % 12,500 A0 A4B) T 10,000 Vo)
(E)  Question not attempted / Srafta 5 L)
<j =t
145 mmam%mmﬁmm-mmﬂaﬁﬁﬁ%mmaﬂqmwﬁm%?\
(A) e @ (B) wEEX e
4C) Tt o (D) SEw 3
(E) oruhaus ) ca
146 FafafEadd farr g g we i e @ s,
(A) famesmm o (B) o+ amayr m
(C) frm+zm <t (D) fig+amy 7t
(E) wruftauy r~ >
(8] m

147 Which of the following stitement is not correct abo
(A)  This region owes iFﬁcve]opmcni to being
Valley.

ut the Chhota Nagpur Plateay In@n‘nl region?
rich in iron ore from Jharkhand-ﬁisha and coal from D&
r-.'

(B)  This region is popula_JJ'ly known as “Ruhr of India”, .
(C)  This region extend over Jharkhand, Chhattisgarh and Andhra Pradesh, \D

(D) Ranchi, Dhanbad, Pibasn, Sindri are some important industrial centres ol‘ll%]ugiun_

(E)  Question not attempted ™~

Freafeafiaa i @ wa am ey e e ware steifies e e i e v B 0

(A) mmmm@.mammmmm%mﬁﬁmmﬁwwgt

(B) T & e 5 ey, sy it v B ~

(C) nﬁ:m,mﬁaﬂtmw&uﬁmﬁmumtl v

(D) e, wware, ardaran, fitety, v i s wwcr sehfs 7% 8

(E) Iruia g l
Alll ® 30 (PT



148  Which of the following statement is mor correct about the Tertiary Coal?

(A) Itis found in the rocks of the oligocene period of the Tertiary Era.
(B) Itisalso known as the brown Coal.
(C) Itisan inferior quality Coal.
(D)  Itcontributes to about 25% of the total coal production of the country. |
(E)  Question not attempted
forfeafiaa § 8 W 61 Fo et e 6w A 2
(A) T8 GClv® 0 3 sitfermifer st o6t sz i g s 2
(B) T8 [ HIT@T & A1 & oft Sirm ey 2
(C)  T& 3= ToTEen & e g )
(D) W& 31 % Tl I IeqET | 259 7 sfrer 2ar 2
(E) Fafawd
149 Karewa formation are useful for the cuilivati-:;n of
(A) Coffee !
(B) Zafran/Saffron
(C) Cotton
(D) Jute
(E)  Question not attempfed
FHaT FEE (FHYH) Forereht @t 3 fog st 27
(A) wH , : g '
(B) &®T
(C) =+uH
(D) =& '
() saf@wa
150 Which of the following river is right bank tributary of the Ganga River System?

(A) Ghaghara
(B) Ramganga
(C) Son '
(D)  Gomij

(E)  Question not attempted
Feafefia i v ot o, v s o o0 e e T B2
(A) wrg
(B) Ty
©) =m
(D) i
(E)  sygafeawg

Alll ) ,. 3
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